


• Eight persons P, Q, R, S, T, U, V and W are sitting around a square table but 

not necessarily in the same order. Four of them sit in the middle of the arm of 

the table facing the center and rest of them sit at the corners of the table facing 

opposite to the centre. Q and R sit opposite to each other where Q does not sit 

next to V. Three persons sit between U and P. S sits second to the right of V. V 

sits at the corner. Two persons sit between P and T. U sits fifth to the right of S.

• आठ व्यक्ति P, Q, R, S, T, U, V और W एक वर्गाकगर मेज पर बैठे हैं लेक्तकन आवश्यक नहीं 

समगन क्रम में हों। उनमें से चगर मेज की भजुग के मध्य में कें द्र के सम्मखु बैठें  हैं और उनमें से बगकी 

कें द्र के क्तवपरीत मखु करके मेज के कोनों पर बैठें  हैं। Q और R एक दसूरे के सम्मखु बैठें  हैं जहगाँ Q, 

V के बर्ल में नहीं बैठग ह।ै U और P के बीच तीन व्यक्ति बैठे हैं। S, V के दगए ंदसूरे स्थगन पर बैठग 

ह।ै V कोने पर बैठग ह।ै P औरT के बीच दो व्यक्ति बैठे हैं। U, S के दगयें पगाँचवें स्थगन पर बैठग ह।ै

• क्तनम्नक्तलक्तखत में से कौन T के बगए ंबैठग ह?ै

• Who among the following sits to the left of T?
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• Eight people 2P, 5Q, 6R, 7S, 8T, 3U, 1V and 0W, are seated around a circular table 

facing to each other. 6R is second to the right of 2P and third to the left of 5Q. 5Q is 

second to the left of 1V. 7S is fourth to the right/left of 1V. 3U is a neighbor of 7S. 8T 

is third to the left of 0W.

• आठ व्यक्ति 2P, 5Q, 6R, 7S, 8T, 3U, 1V और 0W, एक वतृ्तगकगर मेज के चगरों ओर आमने-सगमने बैठे 

हैं। 6R, 2P के दगयें से दसूरे स्थगन पर और 5Q के बगयें से तीसरे स्थगन पर ह।ै 5Q, 1V के बगयें से दसूरे स्थगन 

पर ह।ै 7S, 1V के दगएाँ/बगएाँ चौथग ह।ै 3U, 7S कग पडोसी ह।ै 8T, 0W के बगयें तीसरग ह।ै

• Who is the second right of 2P ? A. 5Q

B. 3U

C. 7S

D. 6R

E. None of these.



• Eight persons, L, M, N, O, P, Q, R, and S are sitting around a circular dining table 

facing the center to enjoy thanksgiving dinner. O sits second to the left of Q. Two 

persons sit between O and R. R is an immediate neighbor of Q. L sits opposite to M. S 

sits second to the right of M. N does not sit opposite to Q.

• Who are the immediate neighbors of 0?

• थैंक्सक्तर्क्तवंर् क्तिनर कग आनंद लेने के क्तलए, आठ व्यक्ति, L, M, N, O, P, Q, R, और S एक र्ोलगकगर 

िगइक्तनंर् टेबल के चगरों ओर कें द्र की ओर मखु करके बैठे हैं। O, Q के बगई ंओर दसूरे स्थगन पर बैठग ह।ै O 

और R के बीच दो व्यक्ति बैठे हैं। R, Q कग क्तनकटतम पडोसी ह।ै L, M के क्तवपरीत बैठग ह।ै S, M के दगई ं

ओर दसूरे स्थगन पर बैठग ह।ै N, Q के क्तवपरीत नहीं बैठग ह।ै A. PM

B. LS

C. RM

D.LR

E. MS
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• A certain number of persons are sitting in a straight line and all are facing 

north. P sits fifth to the left of Z. Four persons sit between A and P. B sits 

eighth to the right of L. Two persons sit between L and X. X sits third to the 

right of A. Three persons sit between B and S. How many persons are sitting in 

this straight row?

• एक क्तनक्तित संख्यग में कुछ व्यक्ति एक सीधी पंक्ति में बैठे हैं और सभी उत्तर क्तदशग के सम्मखु हैं। P, Z 

के बगए ंसे पगाँचवें स्थगन पर बैठग ह।ै A और P के मध्य में चगर व्यक्ति बैठे हैं। B, L के दगयें से आठवें 

स्थगन पर बैठग ह।ै L और X के मध्य में दो व्यक्ति बैठे हैं। X. A के दगयें से तीसरे स्थगन पर बैठग ह।ै 

B और S के मध्य में तीन व्यक्ति बैठे हैं। इस सीधी पंक्ति में कुल क्तकतने व्यक्ति बैठे हैं?
A.15

B. 17

C. 19

D.20

E. 22



• In a family eight persons namely A, B, C, D, E, F, G and H are sitting around a 

circular table but not necessarily in the same order. All are facing the centre. A 

and G are immediate neighbors of each other. Two persons sit between B and 

D. One person sits between C and E. E is not the neighbor of H and D. Four 

persons sit between D and H. G sits opposite to the one who sits immediate 

right of E. F does not sit to the immediate left of B.

• एक पररवगर में A, B, C, D, E, F, G और H नगमक आठ व्यक्ति एक वतृ्तगकगर मेज के चगरों ओर 

बैठे हैं परंत ुयह जरूरी नहीं क्तक वे उसी क्रम में हों। सभी कें द्र के सम्मखु हैं। A और G एक दसूरे के 

क्तनकटतम पडोसी हैं। B और D के बीच दो व्यक्ति बैठे हैं। C और E के बीच एक व्यक्ति बैठग ह।ै E, 

H और D कग पडोसी नहीं ह।ै D और H के बीच चगर व्यक्ति बैठे हैं। G, उस व्यक्ति के क्तवपरीत बैठग

ह ैजो E के क्तनकटतम दगई ंओर बैठग ह।ै F, B के क्तनकटतम बगई ंओर नहीं बैठग ह।ै



• In a family eight persons namely A, 

B, C, D, E, F, G and H are sitting 
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• Who is sitting opposite to A?

A.H

B. C

C. G

D.E

E. B


